Signature and Name of Invigilator

(Signature)
(Name)

2. (Signature)
(Name)

D—-0408

Time : 1¥4 hours]

Roll No.

OMR Sheet NO. 2 .....oovvvvieriieieeeieeseeeee e

(To be filled by the Candidate)

Roll No.

(In figures as per admission card)

(In words)

Test Booklet No.

PAPER—II
PSYCHOLOGY

[Maximum Marks : 100

Number of Pages in this Booklet : 32

Number of Questions in this Booklet : 50

Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.

This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are
requested to open the booklet and compulsorily examine it
as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not accept
an open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faully booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the question
booklet will be replaced nor any extra time will be
given.

After this verification is over, the Test Booklet Number

should be entered in the OMR Sheet and the

OMR Sheet Number should be entered on this Test

Booklet.

Each item has four alternative responses marked (A), (B),

(C) and (D). You have to darken the oval as indicated

below on the correct response against each item.

Brample: (2D ® o

where (C) is the correct response.

(iii)

Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I booklet only. If you mark
at any place other than in the ovals in the Answer Sheet, it
will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the
test booklet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render
yourself liable to disqualification.

You have to return the test question booklet to the
invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination
Hall.

1.
2.
3.

10.
11.

T & fag frder
Tl I8 % TR 7 T W ST e AveR fafaw)
9 IeH-W § v Sgfasetia g T |
TGN TR O WY, Y- GRdent a9e T < <1 ST | geet die fire
YT Y- YRkt Tre qer ST frfaiea site & fog fed
SR o St ST ST TR
(i) TH-IRTE T & fau 39% FHE I W 1w F
T #1 e & 1 get g A for wWie-Tia 71 g
TIRRTAH |
AW YY U B HSYITTAR I9-URAehT o IS Ao I 131
HEATF T IR T G o FT A [ AT E | < 1ogui gfiaent
T gg /v @ OF A ger ST A O A EiREe T
sttt fRe T T TR & 1 ifeyut yftaeht Wi T qern
T AT T I eTeRT THeh T UT g6 T | I gfdeRt
A | 3k foT s T ute fome fedr =i e ae s
Y TS T MYT-YRAeRT Ao 1 AT 3T T 1 ey
sifafts v fgar s
9 S % 915 JE-gRaE F1 0 HE OMR T |
3iferd L SR OMR T1%h F1 50 T& 39 U%- IR |
sifra e
T UT % T 9 W foswed (A), (B), (C) 7@ (D) fed T 1
STIFT T IR TIEIRT &1 U § T RTA AT § or ol =19
feam @ g
Fareor: CAD e O
SEfh (C) Wl TR |
%1 o TR el TP T ok 3TaX {2 72 ITR-TTeh W A sifera
F F | Al o9 IR T W e T e st fReT o
T T IR Forgifehd o §, 71 ST qedihd el T |
31ex fed T fdy 't &Y sagee U |
&= & (Rough Work) 35 gfeaert % 1fam 98 | &Y |
2fE 3T IR - GRehT TR STOHAT AT 1 W 18 &7 et ey svoert
TEaM T Tk, foReT o1 o X qwid = siferd ot & 31 wan
ferdr s € fid T fod ST |

ST IR AT T W TR-YRden fled qed F1 T rer
SR § & IR GHITH o &1 ST |1 T8 9o § e’ |
HF S |

HAT * 1T / ThTA ST 1SS U hT 11 SEAHTA R |
fFET 91 TR T HIUTER (FAFAST ) A AT SIS TS FHT

(i)

(iii)

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table etc., is prohibited.
12. There is NO negative marking.

PHUEIECES]
12. T IR oh FT 3ieh 7T TS ST |

D —0408

P.T.O.



PSYCHOLOGY
PAPER-1I

Note : This paper contains fifty (50) multiple-choice questions, each question carries
two (2) marks. Attempt all of them.

1. In Tolman’s maze learning experiment the fact that the group of rats receiving
reinforcement only after the 10th day of the study solved the maze far more quickly
than did the rats who had been reinforced from the first day can be interpreted to
mean that these particular rats :

(A) were much more intelligent than the other rats
(B) had already learnt the maze in the first nine days
(C) had the opportunity to cheat by watching the other rats

(D) were very hungry and therefore learned much more quickly

2. Who added the concept of reinforcement to learning theory ?
(A) Tolman (B) Thorndike (C) Skinner (D) Miller
3.  What type of memory allows us to have meaningful conversation ?
(A) Iconic memory (B) Echoic memory
(C) Short term memory (D) Long term memory
4.  When Mohan studies Psychological terms, he tries to tie each concept into something

he already knows.

He thinks about the meaning of the concept rather than just saying the words
over and over. Which model of memory would best explain Mohan’s approach to
encoding memories :

(A) Levels of processing (B) Parallel distributed processing
(C) Information processing (D) Three stages
5.  The best place to take your psychology exam to ensure good retrieval of psychological

concept is in the :

(A) Psychological classroom
B) Auditorium

English classroom

Special testing room used for all exams

D —0408 2
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10.

11.

Which one of the following statement about type ‘A’ individual is not correct ?
(A) They are Aggressive (B) They are impatient
(C) They are Sociable (D) They worry about the deadline

Trait Approach to personality asserts that traits are :

(A) Adjective describing behaviour

(B) Discrete and discontinuous categories of people

(C) Generalized system which ensure consistency in behaviour of individual

(D) Psychological categories of Temperament associated with specific body physique

Which one of the following statement indicates true relation between intelligence and
creativity ?

(A) Intelligence and creativity have high correlation
(B) Intelligence and creativity have low correlation
(C) Intelligence and creativity have moderate correlation

(D) Intelligence and creativity have higher correlation at the lower level than at higher
level of intelligence

A psychological test can be considered as standard when one establishes its :
(A) Reliability and Validity (B) Reliability and Variability
(C) Validity and Norm (D) Reliability, Validity and Norm

Parallel lines such as Railway Track appear to converge on a distant-point called
vanishing point. This phenomenon is explained by the principle of :

(A) Relative size (B) Interposition

(C) Linear perspective (D) Aerial Perspective

Dark adaptation is a process in which eyes get more sensitive to :
(A) Green light (B) Color light

(C) Light with bright illumination (D) Light with low illumination

D —0408 4
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12.

13.

14.

15.

16.

Which of the following statement explains incidental learning ?

(A) learning without actually trying to attain a goal

(B) learning in absence of ostensible reinforcement

(C) learning without knowledge of relationship between response and reinforcement

(D) learning in absence of changes in perception or discrimination

Which one of the following factor is not included in big five dimensions of personality ?
(A) Extraversion (B) Neuroticism

(C) Agreeableness (D) Dominance

Secret of coping with stress is to be willing to modify our construct to fit into the new
situation. This statement is attributed to :

(A) Carl Roger (B) Sandra Scarr
(C) Hans Eysenck (D) George Kelly

An emotion is best defined as :
(A) An individual response to situation
(B) Reaction to emotional stimulus

(C) An excited state arising in response to stimuli for which the individual doesn’t
have adequate readymade reactions

(D) Display of excessive or irrational behaviour as a result of unexpected or intense
stimuli

Which one of the following statement regarding field experiment is not true ?

(A) Field experiments require investigators who are specially skilled for intervening
in social situation.

(B) The greatest difficulty in field experiment lies in the randomization and
manipulation of the independent variable.

(C) Field experiments are concerned with causal relationship but not with the direction
of relationship.

(D) Field experiments are carried out in natural setting.



12.

13.

14.

15.

16.

friferd § & e FeR Tl sifurmg F1 e A ©

(A)  Aferrm o @ #1 Iifd & ford areqd | =i 7€ =ic
(B) ¥ YAl &7 srufeafa o sifame |

(C) TAsieH AR STIFRAT ok ST Fva-e o TH ok for 1 FFe AT |
(D) fa9es =1 yewr # ufeadHi #1 srqufeafa § eifemm )

Frafafaa wrel § 9 S FRE Afgad F1 o Ui mami | et €t 82
(A) SfeHEd (B) dfrehranfuan (C) Henfd S (D) 9Y<d

yfgerer ¥ e =1 131 97 § fr ufqafera <afaa omam ey o1 =2 feafadil 6 o1 &Y < 9 |
g o fordet § 2

(A) T ASK (B) HSU THN (C) 39 o Heh (D) SISl el

T ot T & 9 wiRkenfyd feran S wehdr ¥
(A) Teafq & gfa <dfsasw safpam
(B) Wiafiter TS o fa ufdfman

(C) Tk IS Terel Sl <xisfenl F71 SfRA1 o €9 ¥ T & foeh forw <t o1 g o1
ERERICERIEAES

(D) <HeRR &7 Afd SF2el ST eFeRR S SR 319@T <19 ek <kl &l B |

frmfafad o 9 9 91 e a5-9am & faw 91 91 82

(A) &F1 TEN % fau foaRioaen T8 Fera STggeeEwRal anfey S wHifseh feafaai  geaad &
Heh |

(B) &FI-YAN H WAy 31fush HiSTIE Torc=l =R ok ARFRR iR B BT F1 §
(C)  &F-JAN 1 Hvel-Y ST el ¥ § UG Skl Hrel-y Trere| &1 faen § =& 81
(D)  &F1-9AnT ke afiemt # foa s 1

D —0408 7 P.T.O.



17. Which of the following statements is/are correct regarding perception ?
(i)  Perception is not directly observable.
(i) Perception is followed by sensation.
(iii) Perception can be modified.
(iv) Perception is inherited.
Select the correct answer from the codes given below :
Codes :
(A) (ii) alone (B) (i) alone (C) (i) and (iii) (D) (i) and (iii)

18. The memory trace if not revived from time to time gradually fades out according to law
of disuse until it is completely obliterated. It is called :

(A) anti-consolidation (B) proactive inhibition

(C) retrieval inhibition (D) interference

19. Read the statements given below carefully. One of the statements is assertion and
the other is reason. Answer on the basis of codes given below the statements :

Assertion (A) : According to Freud, all behaviours stemmed from two opposing
groups of instincts.

Reason (R) : Some instincts are innate and some are acquired.

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

20. Read the statements given below carefully. One of the statements is assertion and
the other is reason. Answer on the basis of codes given below the statements :

Assertion (A) : People in cinema hall can be readily grouped into high, middle and
low income categories.

Reason (R) : Perceptual grouping may be done on the principle of proximity and
similarity.

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

D —0408 8
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21.

22.

23.

Read the statements given below carefully. One of the statements is assertion and
the other is reason. Answer on the basis of codes given below the statements :

Assertion (A) : A forty year old man may have the same IQ as that of a 20 year old.

Reason (R) : The forty year old man could have been somewhat retarded to start
with.

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Read the statements given below carefully. One of the statements is assertion and
the other is reason. Answer on the basis of codes given below the statements :

Assertion (A) : Any psychological or physiological imbalance motivates behaviour.
Reason (R) : The body tends to maintain internal balance.

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

Read the statements given below carefully. One of the statements is assertion and
the other is reason. Answer on the basis of codes given below the statements :

Assertion (A) : In proactive inhibition, early learning interferes with later learning.

Reason (R) : If a person goes to sleep immediately after learning, forgetting will be
less.

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

D —0408 10
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24.

25.

26.

Read the statements given below carefully. One of the statements is assertion and
the other is reason. Answer on the basis of codes given below the statements :

Assertion (A) : Performance of a person is a function of his motivational level.
Reason (R) : There is a linear relationship between arousal and performance.
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Read the statements given below carefully. One of the statements is assertion and
the other is reason. Answer on the basis of codes given below the statements :

Assertion (A) : Eidetic imagery is rare in adults.

Reason (R) : The loss in eidetic imagery may be related to the development of
Abstract Thinking.

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Read the statements given below carefully. One of the statements is assertion and
the other is reason. Answer on the basis of codes given below the statements :

Assertion (A) : Out of the five correlation coefficients, —0.80, 0.70, 0.50, 0.00, and
—0.20, between X and Y variable, the strongest relationship is indicated
by a correlation coefficient of 0.70.

Reason (R) : The correlation coefficient of 0.70 indicates that as X increases, Y also
tends to increase.

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

D —0408 12



24.

25.

26.

=12 o2 el ol = 9 9fet | Tk T USRS (A) 7 3R GHU &IROT (R) ¥ | A & =14
& #IEl % MR W W AT |

AfeRed (A) :  @fdd o1 FITeA S9e AR T 1 YT B § |
HIT (R) : TS 3R FTIIe & W YT gre B ¥ |

FIT:

(A) (A) 3R (R) SF T § 3R (R), (A) T HeT THCTHT § |

(B) (A) 3R (R) SFIl & & 95 (R), (A) T HeT TR T § |

() (A) T3 §, 95 (R) 39H T

(D) (A) 39F 3, 9G] (R) 9 &

=12 o2 el ol = 9 9fet | Tk T USRS (A) 7 3R GHU &IROT (R) ¥ | A o =14
& #IEl % MR W W AT |

afiwem (A): Tl § stfafaee ufawee fava 2t 7

HIT (R) : stfaferere afqweet # g o Wi & wrafgd 8 W ¢ |
FIT:

(A) (A) 3R (R) IF & T 3R (R), (A) FT T TCTH |

(B) (A) 3R (R) SFIl & & 95 (R), (A) 1 HeT TR T § |

(C) (A) T3 §, 95 (R) 39H T

(D) (A) 39F 3, 9G] (R) 9 &

=19 o2 el ol = 9 9fet | Tk T USRS (A) 7 3R GHU &IROT (R) ¥ | A o =14
& #IEl % MR W W AT |

AfURAT (A): X 3R Y =R & 19 99 Hewrary ol —0.80, 0.70, 0.50, 0.00, —0.20
T ¥ IETRIeT e —0.70 o SEHrery Ulish §RI ST Bl § |

HIT (R) : 0.70 T HeHva- T[Ulieh SRTA a1 8 51a X dgdi g af Y +1 Je ol 71
FIT:

(A) (A) 3R (R) SF T § 3R (R), (A) T HeT THCTHT § |

(B) (A) 3R (R) SFI & & 95 (R), (A) T HeT TR T 5 |

(C) (A) TF &, 95 (R) 39H T

(D) (A) 3FA T, 97 (R) T4 T

D —0408 13 P.T.O.



27.

28.

29.

Read the statements given below carefully. One of the statements is assertion and
the other is reason. Answer on the basis of codes given below the statements :

Assertion (A) : Limbic system is a group of structures in the cardiovascular region.
Reason (R) : Limbic system is involved in expression of emotion and motivation.
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Read the statements given below carefully. One of the statements is assertion and
the other is reason. Answer on the basis of codes given below the statements :

Assertion (A) : Neither trait nor type theory can explain total personality.

Reason (R) : Personality is the interactive product of individuality and environment.
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

The Theories of Intelligence appeared in the following order. Select the correct order :
(A) Binet-Simon / Thurstone / R.B. Cattell / Spearman
(B) Binet-Simon / Spearman / Thurstone / R.B. Cattell
(C) Spearman / Thurstone / Binet-Simon / R.B. Cattell

(D) R.B. Cattell / Binet-Simon / Thurstone / Spearman
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27.

28.

29.

=12 o2 el ol = 9 9fet | Tk T USRS (A) 7 3R GHU &IROT (R) ¥ | A & =14
& #IEl % MR W W AT |

AfuemeT (A) :  Tafiaes a1 Teenfes T § Se=1sii &1 99g ¢ |

HIT (R) : feafraes a1 sraAT & @i ARDRen F71 etfieafad 9 ofq:77q 8@ )
FiIT :

(A) (A) 3R (R) SFT ¥ § 3R (R), (A) T HeT THCTHT § |

(B) (A) 3R (R) I &F § TG (R), (A) Tl TT TACTHT 7T ¢

Q) (A) TF &, 95 (R) 39H T

(D) (A) A T, 97 (R) T4 T

=191 o2 el ol = 9 9fet | Tk T USRS (A) 7 3R GHU &IROT (R) ¥ | A o =14
e =IEi & SuR W W ST

AfRAT (A) : T T TR A @ YR fagra qul fada &1 Tt F Hehdl ¥ |
LT (R) : fgdca afadea iR SdERvT 1 31d: fFaras gfawa 7|
HIE :

(A) (A) 3R (R) SF TF § 3R (R), (A) T HeT THCTHT § |

(B) (A) 3R (R) IFI &F § TG (R), (A) Tl Tl TACTHT LT ¢

(C) (A) §HF &, g (R) A T

(D) (A) 39F 3, 9] (R) 94 & |

gfgwn < fagra 7 %9 H o W&t /9 &1 99T FIN
(A) WETR-HEAA / 9tied / AREY. hed / T
(B) WEAC-HIRAA / ITIATHT / e / SIRET. hed
(C) TIRHA / ofied / Jede-HeAd / ARFL. hed
(D) SRET. hed / AEA-HRAT / 9T / T
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30. The correct sequence of Gestalt psychologists is :
(A) Wertheimer / Koffka / Kohler / Lewin
(B) Kohler / Wertheimer / Koffka / Lewin
(C) Lewin / Kohler / Koffka / Wertheimer

(D) Koffka / Lewin / Wertheimer / Kohler

31. DPiaget suggested the following developmental stages. Which one is correct ?
(A) Sensori motor / Concrete operations / Pre-operational / Formal operational
(B) Pre-operational / Formal operational / Sensori motor / Concrete operations
(C) Sensori motor / Pre-operational / Formal operational / Concrete operations

(D) Concrete operations / Sensori motor / Formal operational / Pre-operational

32. These memory experts are in the following order. Which one is correct ?
(A) Ebbinghans / Baddeley / Bartlett / Broadbent
(B) Ebbinghans / Bartlett / Broadbent / Baddeley
(C) Bartlett / Broadbent / Baddeley / Ebbinghans

(D) Broadbent / Baddeley / Ebbinghans / Bertlett

33. What is the correct sequence of personality theorists ?
(i)  Allport
(i) Cattell
(iii) Eysenck
(iv) McCrae and Costa
(A) @ () () ()
(B) () (@ (D) ()
Q) @) @Gv) @ (i)
D) @ () Gv) (i)

D —0408 16



30.

31.

32.

33.

SIETEe HAENTehT 1 TEl W i A1 ?
(A) TRIEH / HiTehT / Higer / AAfaq
(B) hIBTR / SRIgHL / hitehl / AAfe
(C) foH / SR / Hi%ehl / B
(D) hiwaht / Afe / FTEHT / Siger

qrgsie F fafafad fasmmEmaes saeensti o gene faan 99 9 9t &1 =997 Fi)

(A) sFza Sfraras / 3 GfharHs Ta%e / Uh-SiharHs / SAadie ks
(B) Urp-dfhaTcH® / siv=nier dikarwe® / shza dfkarms / 3m Sikands stereen
(C) sfza GfFards® / Irep-dikarHs / siv=niie dihares / 3™ SihamHs steree
(D) 3 Hfwares oawen / shza dikarms / sivenie dfikares / Je-wiwards

a1 v o wgfa & fgqo €)1 oA 9 F W wm W) e
(A) TfedTei / sigie / e / Aese
(B) TfeaRid / dRTE / Aede / dF
() R/ srede / Sgid / ufesieig
(D) wresie / dg / ufesimeid / el

el fHgFaanaal ol Tl 79 991 7 ?
(i) SR

(i) hed

(i) STEH®

(iv) T SR B

(A) @ (@) @) ()

(B) () @@ () ()

Q) @) (@v) (@) (i)

(D) @ (i) @Gv) (i)
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34. Observational learning follows which of the following sequence ?
(A) Motivation / Production Processes / Retention / Attention
(B) Attention / Retention / Production Processes / Motivation
(C) Retention / Motivation / Attention / Production Processes

(D) Production Processes / Attention / Motivation / Retention

35. Which one of the following is the correct sequence of steps involving creative thinking ?
(A) Repression - Incubation - Inspiration - Verification
(B) Inspiration - Incubation - Preparation - Verification
(C) Observation - Concentration - Inspiration - Verification

(D) Incubation - Preparation - Inspiration - Verification

36. The following is the sequence of theories of Aggression. Which one is correct ?
(i)  Biological Theory
(i) Frustration-Aggression Hypothesis
(iii) Cognitive theory
(iv) Social learning theory
(A) @ @) @) (@v)
B @O G Gv) (i)
(© @@ (@v) @) @
(D) () (@i) @) @)
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34. frfafad 9 5 | weam I 1 68 o hiF 97?2
(A) TR / Icqred ufskan / gfaanor / sees
(B) YN / TfAuROT / Ieured IR / SR
(C) ufqurur / Ul / SraaM / Fcdred afsRan

(D) IcUIeH Uik / s1ayM / AU / gfqero

35. ESiAIHE foaR o fot 39T stereeneil 1 §et FH SRt |
(A) T - IgYeA - Y9S- HedoH
(B) U - IgWE - UREHTUT - FATIH
(C) ST - THTIA — IRAHT - HAH

(D) |YeA - IReReTT - YRaE - HedTaH

36. Trfafaa ssraear fagrdl & %9 €1 981 9 & dIdesy :

() Sfoes fagra

(ii)  TIRET-SAHTHR - TR
(iti) EIMRHS TEgra

(iv) EES wHea fagrd

(A) @) (@) (i) (iv)

B) @ (@) (v) (i)

© (@) (v) (D) ()

(D) () (i) () ()
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Match List-1 with List-1I in Item No. from 37 to 45 :

37. List-1 List-11
(a) Ability to see fine details (i)  Perceptual set
(b) Progressive improvement in vision (i) Perceptual constancy
(¢)  Unchangingness in vision (iii) Dark adaptation
(d) Readiness to perceive in a particular way (iv) Visual Acuity
Codes :
(@ @ () @
@A) (@) @ O )
B (v @) @
(© @) (@v) @) ()
D) @ (@@ @) @)
38. List-1 List-11
(a) Schedules of Reinforcement (i) E.L. Thorndike
(b) Modeling (i) A. Bandura
(c) Conditioning (iii) B.F. Skinner
(d) Law of Effect (iv) Ivan Pavlov
Codes :
(@ b (© (@)
@ O @ (v G
B () O ) @)
© (@) (@) () O
D) (v) @) (@) O
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THIIT T&AT 37 W 45 ¥ Gail-1 51 Gai-11 % a1 e i

37.

(A)

(©)

(D)

38.

gaEl-1
ANTF faerell i <@ F1 A

gfte H it gur

gfte # syafierd ¥¥eran

(i)
(i)
(ii)

foreT foram g § Uifd A o fAT de’ @1 (iv)

(b)
(i)
(i)
(iv)
(i)

gaEl-1

Yeie F1 STqgfaEi

tofei

HAgpeddl

(o

(iif)

g9E F1 fafy

(b)
(iif)

(i)
(i)

(d)
(iv)

(i)
(iv)

(i)
(ii)
(iv)

21

gaEl-11

gaEl-11
Jeagrfte giEw
JeAee feera
TH ST TR
gfte &1 <teuran

U, 9 SEh

T, §gU

10w, R

ECIER GG
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39. List-1 List-I1

(a) Getting the information into memory (i) Sensory memory
(b) Holding the information for momentary (i) Encoding
(c) Grouping the information in a (iii) Working memory

memory span

(d) Temporarily holding the information when (iv) Chunking
performing a task

Codes :

(@ () (o @
(A) @ @ Gv) (i)
(B) () @) @ @)
(© Gv) @) @ (i)
(D) @O G @) (@)

40. List-1 List-11
(a) Concept Formation (i) Strategy
(b) Deductive Reasoning (if) Attaining goal
(c) Problem solving (iii) General to specific
(d) Algorithm (iv) Mental categories
Codes :

(@ B (© @
(A) @) @@ @Gi) (iv)
(B) @) @Gv) @O (i)
© O G @G @)
(D) (v) @) @) ()
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39.
(a)
(b)

(d)

40.

gar-1

gar-11

T wifed o =1 I A ()  Hact Wy ufad
&IUIYT o AT =T Bl A (i) THETHI

T vifed &1 forgfa W =1 o | M (iif) HREIYT TR wfad
foRET Tl 1 HTd BT SRR €9 | AT (iv) @I H
AT

(@ @B ( (@

(i) @@ (v) (i)

(i) (i) () (iv)

(iv) (i) (@) (i)

@) () (i) (i)

gar-1 gar-11

CERIUIRERIL (i) ra

[EUGERIIG] (i) EI-UIH

AL GHIEE (iii) FHF ¥ fafire

fafy fom (iv) wHAfges s

(@ () () (@)
i) (@) (i) (i)

0 @) @) @)
(v) (i) @) )
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41. List-1
(a) An arousal state (i)
(b)  An equilibrium state (ii)
(c) Female sex hormone (iii)
(d) Male sex hormone (iv)
Codes :
(@ (b () @
A) i) @) O @)
B G @) @ @)
© O Gv) @ (i)
D) v @) @i i)
42. List-1
(a) Structure of Intellect (i)
(b) Intelligence quotient (ii)
(c) General Intelligence (iii)
(d) Several Mental Abilities (iv)
Codes :
(@ @ (o @
A) O @) ) @)
B @ O @) @)
© (v @) (i) 0
D) Gi) (v @ G
43. List-1
(a) Projective Tests (i)
(b) Neo-Freudian (ii)
(c) Self-Concept (iii)
(d) Traits (iv)
Codes :
(@ ) (o (@
(A) @) @ G @)
(B) (@) (v) () (@)
(€ (@v) (@) @) (i)
(D) @ @) (@v) (i)

D —0408
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List-I1
Estrogenes
Drive
Homeostasis

Androgenes

List-I11
Spearman
Thurstone
Guilford

Beriet

List-I1

Karen Korney
Cattle

Roger
Rorschach



41.
(a)
(b)

(d)

Fig :

(A)

(B)
(©)
(D)

42,

(b)
()
(d)

Fig :

(A)
(B)
(©
(D)

43.
(@)
(b)
(©)
(d)

Fig :

(A)
(B)
(©)
(D)
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gair-1 gar-11

ERISGCREEID) () ETerEA
Y Sreree (i) A
Afgel gRAN (iii) FHEEM
&Y AN (iv) TIEH

(@ M (© (@
(i) ) @G (i)
@i @) G @)
M  Gv) () (i)
(v) () (D) (i)

[

-1 gar-11
g F1 F= () TEEA
SfGHT AITHA (i) gdeA
HHAT fGHT (iii) TIARIE
3% HHYH AR (iv) dfFe

(@ () (o (@
@ @) () (@)
() () (i) (iv)
(v) () (i) ()

(i) (v) @) (i)

gaEl-1 gar-11
JETT Ty (i) M ®H
RELIRECIH] (i) ohed
I TR (i) IR
fafreand (iv) INER

(@ b () @
(i) (i) (i) (iv)
(i) (@{dv) (@) (1)
v) @ G (@)
0 i) @) ()
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44. List-1

List-I1

(a) Measuring Future Learning (i)  Achievement tests

(b) Measuring Already Learned (if) Aptitude test

() Measuring Mental Abilitics (i) Academic Achievement test
(d) Measuring Learned Subjects (iv) Intelligence test
Codes :

(@ B () @)
(A) () (D) (v) (i)
B) @) @O (v) (i)
Q) (i) (v) @) (1)
(D) (v) () (i) (@)

45. List-1 List-II
(a) Pons (i) Bridge
(b) Dendrites (i) Tree
(c) Cerebellum (iii) Little Brain
(d) Amygdala (iv) Almond
Codes :

@ B (© (@
(A) (v) (i) () (1)
(B) @ @) (i) (iv)
Q) @) (@ (Gv) (i)
(D) () (v) () (i)
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44.

45.

(B)
(©)
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gair-1 gaEr-11
et f¥an-uitH =Rl Ao (i) ucfed TWIET
ECRILANGICARIEEI] (i) ughn wiemo
AT ATIAIST ShT HIGT (iii) STeRTGTHeR IuCIed TR
Toram wrHeRwI <1 ST (iv) SfgH™ TR
(@ B (© @)
@) () () (i)
) () (v) (i)
i) (v) (D) ()
(v) (i) (i) ()
gai-1 gar-11
hE (i) I
ZHRH (i) T8
CRRIENIED (i) <] Hi¥aTh
TS amET) (iv) e
(@ @) () @
(v) (i) (D) ()
@) () (D) (iv)
(i) @) (@v) (i)
() (v) (@) (i)
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46.

Read the following passage and answer the questions (46-50) that follow based on

your understanding of the passage :

Stress is a state of tension that occurs when there are demands and pressures that
tax an individual’s ability to adjust. Stress typically results from the challenge of adjusting
to transitions in life, and college is a time of significant change. Any disease, including
hypertension, heart disease, ulcers and diabetes, have been found to have a strong
correlation with stress. In addition, stress may aggravate or even be a causal factor in
other conditions, such as headache, backache, skin disorders, indigestion, respiratory
ailments, mental illness and accidental injuries. Stress in college can result from external
sources such as academic demands or relationship conflicts, or from internally generated
expectations for self. The stress response is very personal and varies for different

students.

Every one working at the university has contact with students. Sadly, many
students experience severe psychological problems that may go unnoticed or ignored

until it is too late.

College students often face depression, anxiety relationship difficulties, and
feelings of isolation fear of failure, family pressures, and “difficulty in adjusting”.
Without help, the pressure may build until it becomes a crisis situation (severe
depression, suicidal thoughts and/or attempts, panic attacks etc). A psychological
crisis situation occurs when the student feels unable to cope with the circumstances of

his/her life. The more helpless the individual feels, the greater the crisis.

A student’s support system (including family friends, acquaintances etc) is critical.
More extensive the support system, the better the prognosis of the student. Both
psychological crisis and emergencies warrant an immediate call to the Student Health

Center for crisis intervention.

Crisis intervention, thus helps a person cope with the immediate situation and
make a plan to address any ongoing problems. Qualified mental health professional
can help people address the causes of their distress and teach them effective ways to

deal with those causes. Every detection and treatment can head off serious
consequences.

Physical diseases such as heart disease, hypertension, ulcers and diabetes tend to have :
(A) Negative correlation with stress

(B) Positive correlation with stress

(C) Zero correlation with stress

(D) None of the above
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46.

FTafeiRaa sTedq ®T carTqdes Uleq 3iR U9T 46 @ 50 T T X 3797 GHFT & STET
gy g

Jfgeret q1a F1 Teh T § S fFe <Afgass &1 Tmeise #1 9radn 1 gord uSd § iR
S THY UET A FF AT 1 ufqad yrefus €9 9 et 91 fafier srewensii % e g
1 ST U | YT BT R | ShifersT skl WY UE1 ? el Wewerqul qfiedd 8id €1 Fedeh W, i 3=
A MY, 7 U, AR AR AYgHT +F IfHA €, 1 Ul § Yoo Hedvery U T § 1 3Hh
1 |1y, fqae 3 srereensii a1 fiRee, Yie-<d, = -fassfa, deestl, vard I "Hfdes
IR GEEAT-TIE ! I T HHhdl & YT THh [T, HRUMHS HRe &l Thdl ¢ | Hifas H I8
et TRl Edi oh HROT &1 ohell & FIeH STehaites Wi, |ramedi | Wey o1fg o1 9 €1 4%
319 Ufd S &1 TS Trafeh sTeRtenadi o &RoT «F 81 Wehel & | Ufderet o Ufd s1fonan sga
o1 BT © iR fafue faenfeli & fumr-fiw et 2

Tforvafarmera | wel & a1 U afgq fornfeiei 9 arys ¥ war €1 awgEs |
e faene’ TR TR sl w1 9EE i § fEaET AR R #1 e 7 S st
T % TH AeE foRa e Sia deh o I8 9u1em 9 7 )| Hiferst & fanfi=t 6 s,
SR, ST9ET Trel &1 Shicsdl, ThiF 199 F1 W], STAEA 1 3, qRAReE a9 &
GUESH B TS 1 a1 31 Udm § fRET Terar #1 siufafd o gare gam1 o gl §
o o8 Hohe &1 fearfd 9 ST 81 (YR STa9IR, ATH &l o foaR iR/ T9an 9o, Yagad
AR FeAIfe 1) ARSI Gehe 1 feafd et Ieoe1 BIeT & el 310 STer &1 aRfeafaa o | S
H e eTe Hd &1 A wafad TR HedH ol § Il €1 oSl Hehe Bl § |

fereneT wermar-aw1 (URER-THE SiR SRR geanfe) wewerqul & | fofern fereege S
B 3 € faneT & fow v 2wt @ik enehfies Hehe A T #d § fF Hane
TEAL % fore faeneT ame %% &1 qd Jarn S|

T YR Hehe-grdalq ¥ ufasfad <afad i drehifess feafq 9 fgeq &1 saax faear &
3R 3 fREY a9 THTA B WA R o [ A1 S 6 ST e Sar €1 SRa-umE
THfH Tared HHERT TH AT bl Yfdeet o HROI o1 Y1 i | T8 8l Hohd & 3% 3
RO § e o vreT S faget gehd €1 Icish YA T8 I9ER e R IROmHET § o= Hehal
%l

MR A, S R gea I, fd ufded (¥9), e R AyyE ufdee & |1 TR
TeaTey F1 3 YT B | ¢

(A) Yfdae s Y TRNHE i
(B) Ufdeicl o W19 gCHE HFeY
(C) ufieret o |1l A Hiary
(D) <9gad | 9 &I 7|
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47.

48.

49.

50.

Crisis intervention generally :
A) Creates a problem when trying to solve a problem

(
(B) Helps a person to deal with immediate undesirable situation
(C) Creates a severe anxiety disorder in the person

(

D) None of the above

When a person has strong social support to deal with the situation :

(A) He is better able to lessen the impact of Psychological Crisis and emergencies
(B) He wastes his time in attending to the demands of different persons

(C) He feels burns out because of excessive interaction with so many persons

(D) None of these

Optimism has been associated with all of the following except :
(A) Taking care of one’s health

(B) Increased rates of learned helplessness
(C) Lower rates of depression

(

D) Health immune system

Social support :

(A) Has a positive benefit on health

(B) Can improve the physical functioning of cancer patient
(C) Can improve the physical functioning of HIV patient
(D) Shows all of the above

-00o0-
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47.

48.

49.

50.

Hehe o1 BEq4T HHRAA: |

(A) HHE GIa 1 § 9 G 1 FHIEE A H gA R S
(B) TeIfeieh etais=1a feafq % Wy SgM # <afdd 1 Aeg *var €1

(C) afgd & TR g faspfa gisr ohean 71

(D) <=9dad # ¥ &S T

& gfad i feafa 9 SgM < fod dsrem amifse a9 (qure) fiem g, @

(A) @1 AR Hahe SR IRUTE] 3 J9Te 1 FH FE T oRat 9eH 2 §

(B) il et afqaai &1 A W =AM S § 191 99T F&iE w1 g |

(C) 3l S SART wAfaaal & WY STfee 7a:fFa1 o HROT o oT9e Hegd FI T
(D) <=9Yad H IS 7T |

stemare fArifd ® |yt % Wiy wrafgd § faam
(A) 319 TER &1 M @A

(B) fSid few@rad &1 sfel 88 a¥

(C) fodrE #1 fv &

(D) T Yfaerh T

AT qH

(A) TATET T FHRHS AT Bl § |

(B) HE AT F1 Sfeew TRl 1 =5 X TewRa 7

(C) = M ST (HIV) AT #7 feeh FRaneti sl i T Fohell |
(D) <9gad & HeT foeheq |

-00o0-
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